H & 0l & AHS B Ml A

H 2EESOHISEH2 2024-02-01 16:11:43

A= SHESHSIEHRA A SHESIHHEI RS
M BO| e Kd, dEs F= HS
el SHES Malxd EER=E)
A 2N B G(B) - NRAY - BES 0 &y A HIRS
FEESIHHEZHY 80,495,324 78,668,350 1,826,974
= 16,417,053
= 3,818,300
Jl 38,129,589
CH 491,378
& 21,639,004
SEESIOIET M2 80,495,324 78,668,350 1,826,974
= 16,417,053
= 3,818,300
Jl 38,129,589
CH 491,378
< 21,639,004
&0l U= od, =S F= I=H 66,840,685 59,074,719 7,765,966
= 15,861,888
= 3,818,300
) 32,067,973
CH 491,378
[ 14,601, 146
LHEES AFRY 1,682,480 1,752,735 170,255
2B SYHUAH=A 34,500 38,000 23,500
201 ger=3| 23,400 26,000 22,600
01 AtR2t2l] 23,400 26,000 22,600
OggtEa==2H| 23,400
203 HR=H] 11,100 12,000 2900
03 A=A 2= 11,100 12,000 2900
ofdergs=d 8,100
OddEsSIHY RN 3,000
NSAR SAHE2S XI& 27,000 30,000 23,000
307 2I2t01 27,000 30,000 /3,000
02 2B YAIHE A 27,000 30,000 23,000
OXISAte] H=SLHSAY 27,000
HEEH Sz2st 50,080 82,000 231,920
307 2Itold 50,080 82,000 231,920
02 LB HAHEE 50,080 82,000 A31,920
OXSHEXN A 2ERE 5,000
OE=SgEHEE 45,080
HEcHEos sk 35,000 33,500 1,500
307 2I2t01 35,000 33,500 1,500
03 2RI HEE=2SHIE X 35,000 33,500 1,500
O H4geHEgas sk 35,000
A&zl X2 21,440 21,440 0
307 2I2to1 ™ 21,440 21,440




124,040

SA - ZE . B9(0) - ARAY - BAS of v G o HIDE2
02 LB HAHE X 1,440 1,440 0
Od=0dU=l EItX 1,440
04 CIZIHAMAMH 2 & 20,000 20,000 0
O&E=0EUz= 20,000
SSH4EME 29 1,479,460 1,404,795 74,665
306 EX= 1,479,460 1,404,795 74,665
01 £g= 1,479,460 1,404,795 74,665
OS=HENE E¢= 1,479,460
SR delXlus 5,000 6,000 A1,000
201 er23 | 5,000 6,000 A1,000
01 At2t2ltl 5,000 6,000 21,000
O3Fd g2 W= 5,000
dyggs 243 30,000 37,000 27,000
307 el2tol & 30,000 37,000 /7,000
04 QIZIHAIALE 2 & 30,000 37,000 AT7,000
Oog4dEs J3thl 30,000
g e S8 6,573,248 6,179,571 393,677
= 44,344
4,297,215
[ 2,231,689
3= o554 2 663,211 630,414 22,797
435,473
217,738
308 AtXIEHMSOIE 653,211 630,414 22,797
435,473
217,738
01 AN N B2 LS 653,211 630,414 22,797
OSg &84 22X 160,814
107,209
53,605
Oud==Tlo SEAEA 162,29
108,197
54,099
O =8 dEa 2EX 330, 101
220,067
110,034
ZZSUoi Kt 23AE 29 803,523 801,961 1,562
679,483
124,040
308 AHXIEMSOIE 803,523 801,961 1,562
679,483




0l 9= 08, m=E F= OIS
g @ S8 (St ®2)
A - B G9I(3) - HRAY - BES A SimE==t
01 IXICRIZASED 803,523 801,961 1,562
ONEZALHT 2EAE 2 697,107
574,088
123,019
O ZATGHT A X2 3,120
3,120
OJI¥ =31 iZpy| X 5,786
4,765
1,001
OINEZALHT SAIL E4 X
X 67,500
67,500
SEAHA 2oAIE IS 14,733 2,125 £7,3%
9,622
4,911
408 UXI SIS =01 E 14,733 2,125 AT7.302
9,822
4,911
01 IXIBRINESE 14,733 2,125 AT7.3%
OIEE WK PSAL ISt 14,73
9,622
4,911
HEANNN N2e= D20 9 2.6% 72,578 A%9,743
27,040
5,7%
308 KIS 0] 32.6% 72,578 A%0,743
27,040
5,7%
01 AN HZAEZES 2,6% 72,578 A0, 743
OINEZAWHN M2s= T2 2,8%
27,040
5,7%
S=ToIA 2=l AE (1364 5,000 5,000 0
3,500
1,500
307 2I2H0IE 5,000 5,000 0
3,500
1,500
06 DIt 5,000 5,000 0
OIEZAWGK 2= (1366) 5,000
3,500
1,500
=AU 228l NA(AZ) 27,686 23,785 3,901




A= SHESIHIEFRA A SHESIEZH 2
g B0l A= od, == F= =S
el old dey sd (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH SEE Hnz=2
SErTArSRt T == B Ofl r =e
J| 22,800
S 4,886
308 AXIHMSO0IA 27,686 23,785 3,901
Il 22,800
S 4,886
01 HRSHHBAEES 27,686 23,785 3,901
OJtEZHTISHAF S ZHI(AIZ2) 27,686
Il 22,800
= 4,886
ZAT|HHE F=HAF 2GXE 36,176 35,003 1,173
Il 29,792
= 6,384
308 XXM SO0l 36,176 35,003 1,173
J| 29,792
S 6,384
01 XN ELS 36,176 35,003 1,173
S F=AXNE 2E 36,176
Il 290,792
= 6,384
ZHIi0d F=HAR LUHESS 1,557 554 1,008
Jl 1,557
406 JIEFXZ01H 1,557 554 1,003
Il 1,557
01 JIEFAH=20I & 1,557 554 1,003
OZgIid =M dUES2 1,557
J| 1,557
ZH5UloH 0lF0E o8 28X 197,642 191,571 6,071
Jl 131,761
== 65,881
308 AHXIHMSO0IA 197,642 191,571 6,071
J| 131,761
= 65,881
01 XN ELS 197,642 191,571 6,071
O=gllol 0IF0d &84 22 197,642
Il 131,761
S 65,881
Z31lol OIF0d EsAlE 2EXE 225,578 218,252 7,326
Il 185,770
= 39,808
308 AXIHMSO0IA 225,578 218,252 7,326
Il 185,770
= 39,808
01 RSN B EES 225,578 218,252 7,326




A= SIS Z M A dHBESOHEZE 2
M B0l (e WY, dEs == IS
el old dey sd (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
OZdlloll 0IF0d E3AE 29 225,578
| 185,770
= 39,808
Z2T|ol 0I=0Ad BSAIE &4 NEXES XA 13,000 10,000 3,000
| 13,000
308 REXISHMSOIH 13,000 10,000 3,000
| 13,000
01 AXEHILEES 13,000 10,000 3,000
O=glldl 008 ESAIE &4 -
232 K& 13,000
| 13,000
ZdT|of 0|0 ESAIE MBS 1,778 4,250 N2, 472
| 1,464
& 314
403 XX SHHSKH=01H 1,778 4,250 N2, 472
| 1,464
= 314
01 MtXIStH 22 £ 1,778 4,250 N2,472
OZdIloll 0IFHY BEsAlE HNMEZ 1,778
| 1,464
& 314
ZIIoH OlF0HYE ESAE diEE2 AH 110,000 100,000 10,000
406 JIEHAHE01 & 110,000 100,000 10,000
01 JIEtAH=201H 110,000 100,000 10,000
OZglld 0l ESAE LdUHESS
A& 110,000
&3S 13664EH 2 (=HIXI) 747,678 720,798 26,880
| 373,839
& 373,839
307 QI2Hol A 747,678 720,798 26,880
| 373,839
& 373,839
05 QIZtRIEIS 747,678 720,798 26,880
OW&2IZdst 13668H 2 747,678
| 373,839
& 373,839
&S 136648EH 2 (RMAIY) 27,000 27,000
307 2I2+0l ™ 27,000 27,000
05 QI”tPIEZ 27,000 27,000
O d2IZM3t 13664IE 23 27,000
&3S 1366HIE JsE2H(=HIXIS) 10,300 19,100 28,800
| 5,150
& 5,150




A= HTSIEI M SokEZuB
Zu: BO| Ys 08, W= Fe OIS
=t ol A s EER=E)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
d=-FA-d&-8 o 8= = 0l ko s2
402 SI2tXHE0| & 10,300 19,100 A8,800
J| 5,150
< 5,150
02 QIZHIEAIE E X (0| HTHH) 10,300 19,100 A8,800
OUAHE2IZSHESE 13664MIH JsEd 10,300
J| 5,150
= 5,150
H=8 MEA 2R 672,030 762,941 A90,911
J| 448,020
& 224,010
308 AXIHHSOIA 672,030 762,941 A90,911
J| 448,020
= 224,010
01 AIXHAMBAEEXZ 672,030 762,941 290,911
OdZEd ML 29 672,030
J| 448,020
= 224010
SAEZH0IGHAT ESAIE 2HAA 719,140 708,933 10,207
J| 593,694
& 125,446
308 AXIHHMSOIA 719,140 708,933 10,207
J| 593,694
& 125,446
01 AIXSHMBAERZ 719,140 708,933 10,207
O ZHEIINA BSAlE 2 698,112
J| 574,916
c 123,196
OSZHIIoH A A XIS 21,028
J| 18,778
& 2,250
A=A ESAIE JDsE2 14,450 19,557 N5, 107
J| 8,500
& 5,950
403 XEXISHHSXH=0|A 14,450 19,557 N5,107
J| 8,500
c 5,950
01 XEXISHH A =22 X 14,450 19,557 N5, 107
OLd=ZHI|oHAI BESAIE DIsE2 14,450
J| 8,500
= 5,950
HAEZLoHA X=3s T2 ) 34,486 75,165 N40,679
J| 28,400
& 6,086




A= YYESIIEIXY FA O dHESHEI R
g3 B0l e 0d, d5s F= =
el old dey sd (SH9 H2)
42 RA - ZB . G9(3D) - HRAY - BYS Ol &t A HlmE2
308 XXM SOl 34,486 75,165 A40,679
Il 28,400
=S 6,086
01 HXHMBdEx= 34,486 75,165 A40,679
Og==Iloixt Xgsl=s T2 34,486
Il 28,400
< 6,086
S==HTIoHA 22| 248l XA 67,236 59,688 7,548
Il 86,371
< 11,865
308 ARISHMSOIE 67,236 59,688 7,548
2l 56,371
= 11,865
01 IXHMBdEx= 67,236 59,688 7,548
Od==1loi Xt 2 =dl, 2tEHl X 67,236
Jl 55,371
& 11,865
45414 =sHIE S K& 38,836 23,800 15,036
Il 31,982
< 6,854
308 XXM SOIA 38,836 23,800 15,036
Il 31,982
< 6,854
01 IXHMBdE2x= 38,836 23,800 15,036
Od==51loil ==sHl8 s X& 38,836
2l 31,982
= 6,854
ollgret|die 2 X2 950,720 830,524 120,196
Il 782,945
= 167,775
308 AXISHMSOIA 950,720 830,524 120,196
Il 782,945
= 167,775
01 XSS Ex= 950,720 830,524 120,19
Odlgtelde 2E A& 950,720
2l 782,945
= 167,775
SOHOHIIGHAH =4 29 142,710 137,663 5,047
Il 95,140
< 47,570
308 XXM SOl 142,710 137,663 5,047
Il 95,140
= 47,570




AR FABSIEZ M 2N SokEZuB
Zu: BO| Ys 08, W= Fe OIS
=t ol A s EER=E)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
d=-FA-d&-8 o g = 0l ko s2
01 AIXHMBAEERZ 142,710 137,663 5,047
OXSOHOHIIGH AL At A 2H 142,710
J| 95,140
= 47,570
SONOHIIGH K RIRAIE 29 207,095 199,928 7,167
J| 170,549
& 36,546
308 AXIHHMSOIA 207,095 199,928 7,167
J| 170,549
& 36,546
01 AIXIHAMEAMERZS 207,095 199,928 7,167
OXADHOHIIGHAF KIRAIE 2H 207,095
| 170,549
c 36,546
A0HONTIGH A 2 EXIR A 34,513 62,701 N\28,188
J| 28,422
& 6,091
308 AXIHHSOIA 34,513 62,701 N28,188
J| 28,422
& 6,091
01 AIXSHHEAMERZS 34,513 62,701 N28,188
OXOHOHIIGH A A=K AFS 34,513
J| 28,422
& 6,091
A0HOH IloHotsS , EAEXIAMAEH 29 95,912 94,148 1,764
J| 63,941
= 31,971
308 AXIHHSOIA 95,912 94,148 1,764
J| 63,941
& 31,971
01 JXISHMBAEEZ 95,912 94,148 1,764
OH0HOoH Tolots, Ead XJHNEH 89 95,912
J| 63,941
& 31,971
AEATNA Xes2az ) K| 8,500 0 8,500
J| 7,000
< 1,500
308 AXIHHSOIA 8,500 0 8,500
J| 7,000
= 1,500
01 IXISHMBABES 8,500 0 8,500
OAEALIHA XI23s Z2]3 A& 8,500
J| 7,000




A= YYESIIEIXY FA O dHESHEI R
g3 B0l e 0d, d5s F= =
el old dey sd (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH e Hnz=2
SmoETAreER e T == B Ofl &k ==
| & 1,500
0P S50LU= 88,688 97,620 N8,932
= 44,344
& 44,344
307 212+0l1& 88,688 97,620 18,932
= 44,344
= 44,344
1 ARISTIAMEER 83,683 97,620 18,932
OFO0Dts ZHMT WS 88,688
= 44,344
< 44,344
4=y HBus 3,300 3,600 A300
201 LetE gy 3,300 3,600 A300
01 Al2tefsl 3,300 3,600 A300
OS2I €58, "0, 8= O1E =S of
FuF 3,300
H4==Tchi 2sX& 3,000 4,000 1,000
308 ARISHMSOIE 3,000 4,000 1,000
01 MXHMBdE2x= 3,000 4,000 1,000
ONL =TGR ASKB(ESHEA 3,000
oHHtetIIElE SAH M 4 & 6,840 7,800 2960
308 ARISHMSOIE 6,840 7,800 2960
01 MASNBLExRS 6,840 7,800 2960
OdlBIeI e SAIR XIS 6,840
Og=e 2 AlE 238 N (AZ) 6,840 40,440 33,600
308 ARISHMSOIE 6,840 40,440 33,600
01 MAEHBEx= 6,840 40,440 33,600
Ong=52d AE 2] XA (AZ) 6,840
ZATIoH NZAIE SA MM (136641E ) 177,71 0 177,71
307 212+0l& 177,71 177,71
05 2I2tAE = 177,71 77,7
OZIa XBAIE SALA XN (1366) 177,71
ZTIoH KZAIE SAEL HME(AIZ) 267,884 0 267,884
308 ARISMSOIE 267,884 267,884
01 MASNBLExRS 267,884 267,884
O=gTlall XNZAIE SALL XHMHE(AIZ) 267,884
AEZUIGHA 2SFHRIE 125,600 0 125,600
2l 62,800
& 62,800
307 212+0I1& 125,600 0 125,600
2l 62,800
= 62,800




AR YHBSIHEZIMP SN YEBSIEI P
Zu: BO| Ys 08, W= Fe OIS
=t ol A s EER=E)
AR .24 ZE . G230 - NIRAY - BES Ofl b4 A SimE==t
11 Al SXIAIEE 125,600 0 125,600
OAE2o At 21E8F=H X2 125,600
J| 62,800
= 62,800
& IR AHROH 5,571,419 5,602,171 A30,752
[ 3,068,300
== 2,503,119
MEHE XESH(RE) 2,597,380 2,400,218 197,162
[ 1,561,410
= 1,035,970
307 212t01™ 2,597,380 2,400,218 197,162
= 1,561,410
S 1,035,970
11 AR SX A 2= 2,597,380 2,400,218 197,162
OMHE XIE2(2) 1,332,309
= 792,954
[ 539,355
OMHE XIE2D (M) 1,265,071
[ 768,456
== 496,615
MEHE XE2H(AlIZ) 1,302,943 1,331,820 N28,877
s 1,302,943
308 AXIHMSOIA 1,302,943 1,331,820 N28,877
[ 1,302,943
01 HXEHH B E2ES 1,302,943 1,331,820 N28,877
OMdH XIE2S 1,302,943
= 1,302,943
HEFHXAE X2 140,970 132,144 8,826
308 XXM SOIH 140,970 132,144 8,826
01 XN B2 LS 140,970 132,144 8,826
OWdFAXNHE XIS 109,470
OXNSXEE NYPus=H 31,500
HEFSXN A2 SAL U+ A& 155,304 0 185,304
307 212+01& 123,120 123,120
03 SIHHNEE 2 SHIEx 123,120 123,120
OCEFHGRAI 2 SAA HR+(HEF) 123,120
308 XXM SOOI 32,184 32,184
01 AXEH B2 LS 32,184 32,184
OUEHSIRIRAI 2 BALKF LHR+E(AZ) 32,184
HEFHAXAI 2 SAR HHEH NI 66,360 63,120 3,240
307 212t01™ 51,600 49,200 2,400
03 QIHHNEHE 2 SHI2x 51,600 49,200 2,400

_10_




A= SIS Z M A dHBESOHEZE 2
M B0l (e WY, dEs == IS
el od e d R (Gt H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
O FHAX |2 SAK MRLMAE(RE
) 51,600
308 KXIHMSOIH 14,760 13,920 840
01 AXSHELEES 14,760 13,920 840
OW4EFLXAI|Z SALL HMABI (A2
) 14,760
FUHLFHSNAUEATEL S 11,000 15,000 24,000
307 2I2+0l ™ 11,000 15,000 24,000
02 QIRHEAAIHEE X 11,000 15,000 24,000
O HEFHLAA HESRT 43t 11,000
SE0 LIS EME X 182,000 182,000
308 RXIHMSOIH 182,000 182,000
01 XN ExS 182,000 182,000
OFSNHLEELHH 29 182,000
ESHLAEM(ZEL2IAY) 29 226,240 254,375 N28,135
307 gI2tol ™ 34,000 38,500 24,500
02 QIZtBAAIH E X 34,000 38,500 24,500
O=S=S0HEAE =& L AtZ= 22| 34,000
308 AXIHMSO0I& 192,240 215,875 A23,635
01 AXIEHZAEES 192,240 215,875 A23,635
OSEWHEH &=t 192,240
FHHY N2 45,000 50,000 25,000
307 QI2Hol A 45,000 50,000 25,000
02 QIRHHAAIHE X 45,000 50,000 A5,000
OFHHLALE L AFHOIEXNE 45,000
eI XA 20,000 20,000
307 gI2Hol ™ 20,000 20,000
03 QI HE2HHIE X 20,000 20,000
ORI 2 28 K& 20,000
FE0d OXE o ghtel NJAAS 308,149 426,540 A 118,391
s 121,549
& 186,600
307 QI2HO| A 308, 149 426,540 A 118,391
= 121,549
= 186,600
02 QIRHHAAIHE X 308,149 426,540 A 118,391
OFENd CXE &4 gXtel AJEA 308,149
s 121,549
T 186,600
FE04d OXE =€ 2Xel NJAE 198,023 283,860 N85,837
s 82,398
& 115,625

_11_




AR YHBSIHEZIMP SN YEBSIEI P
mE: BO| = G4, #=S == OIE
el od e d R (Gt H2)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
a=-FM-3%-8 o 8= = ofl &b s2
307 21Z2t0| ™ 198,023 283,860 N85,837
= 82,398
o= 115,625
02 QIZFBMAIIE X 198,023 283,860 N\85,837
OFENY CIXE =€ 22l XNJAAS 198,023
ray 82,398
o= 115,625
=5 UM 32Uy XRAIY 253,050 262,100 A9,050
307 2I1Z2H0| & 253,050 262,100 9,050
02 QIZFEAMAIHE X 253,050 262,100 A9,050
O=2 FUA a|UUH KAAIS 253,050
HEAF0IEE 15 J1g X 65,000 0 65,000
307 21Z2t0| ™ 65,000 65,000
02 QIZFBAMAIIE X 65,000 65,000
Ogd=0t5d 153 JIg K& 65,000
A28 =S 52,766,566 45,245,623 7,520,943
= 15,817,544
g 750,000
J| 27,770,758
CH 491,378
= 7,936,886
IIBHH 29 5,381,457 3,215,498 2,165,959
J| 4,139,580
& 1,241,877
308 AXIHHSOIA 5,381,457 3,215,498 2,165,959
J| 4,139,580
& 1,241,877
01 AIXSHHEAMERZS 5,381,457 3,215,498 2,165,959
OJIEHH 29 5,381,457
J| 4,139,580
& 1,241,877
S==0lUsH 29 1,006,638 930,021 76,617
J| 652,188
= 354,450
308 AXISHHMSOIA 1,006,638 930,021 76,617
J| 652,188
& 354,450
01 JXISHMBAEEZ 1,006,638 930,021 76,617
OZ2SE0LIsH 29 1,006,638
J| 652,188
& 354,450
SSR0ILUISE SAEA HRHA 12,480 10,440 2,040




Ha - 29l (3) - AIRAE - BaS of v G o HIDE2
HS0ld 12,480 10,440 2,040
HEa2xs 12,480 10,440 2,040

SSF0LsH SAHA XA 12,480

taletd &4 6,300 6,300 0
sl 6,300 6,300

JUMNHEX 6,300 6,300

&t eIsT2 =i X 6,300

NHHS=H S K& 23,427,000 21,420,000 2,007,000

7l 20,824,000
= 2,603,000
8= 23,427,000 21,420,000 2,007,000
Il 20,824,000
s 2,603,000
RI2¥H6HS (22X 23,427,000 21,420,000 2,007,000
= AES=EH S X 23,427,000
Jl 20,824,000
[ 2,603,000
S SXNAE gAX o 27,880 27,200 680
Il 16,400
= 11,480
|EtHISO0I & 27,880 27,200 680
Jl 16,400
= 11,480
tH3a2xs 27,880 27,200 680
SLE SXAE AT
2 27,880
J| 16,400
< 11,480
gloged) FAX 56, 144 70,280 ~15,136
Il 55,144
HS0|d 55,144 70,280 A15,136
Jl 55,144
HISEXS 55,144 70,280 15,136
218 E (g 55,144
Jl 55,144
8 = K& 242,7%6 240,09 2,700
get=gl 2,700 0 2,700
AR 22 2,700 0 2,700
OREZ2IE=XAIE ot 2,700
301 2eEN=S 240,096 240,09%
02 AR 2EH 53 (52 240,096 240,096
OtR2I1E Hgdl XI& 240,096

_13_




SA - ZE . B9(0) - ARAY - BAS of v G o HIDE2
orolEs XN& 17,887,958 14,082,654 3,805,304
= 15,676,544
== 2,211,414
307 el2to| & 449,512 449,512 0
= 224,756
< 224,756
1 AMISXAIEEXS 449,512 449,512 0
O0l0l=8 ZHX2HH 2 449,512
= 224,756
= 224,756
308 XXM SOIA 17,438,446 13,633, 142 3,805,304
= 16,451,788
=S 1,986,658
01 XN BSELES 17,438,446 13,633,142 3,805,304
OotoI=sXE 17,438,446
= 15,451,788
[ 1,986,658
OLOISSNIEAIE SAEL XML 21,360 14,760 6,600
307 @I2t0| & 8,400 0 8,400
03 PIAHHEE 22X 8,400 0 8,400
Oorol=s8 ZaXad ININIPSEY/ fal 8,400
308 XXM SOIA 12,960 14,760 1,800
01 AXEH B2 LS 12,960 14,760 A1,800
OO00ISSXIFAIE BEA 12,960
AHBRR Ols¢s & 136,125 189,000 A52,875
121,000
15,125
301 eEtE N = 136,125 189,000 Nb2,875
121,000
15,125
01 Al EHAHSFS (B2 136,125 189,000 A\52,875
OFAHBIRE Ol 136,125
121,000
15,125
SINSKELE 2 167,193 136,071 31,122
128,610
38,583
308 AHXIEMSOIH 167,193 136,071 31,122
128,610
< 38,583
01 HAHHBSEEXS 167,193 136,071 31,122
Ot2=IEXEHH 29 167,193




2 RA - BB O9(E0) - HRAY - BAS of v G o HIDE2
128,610
38,583
CHE3EXE HEHE 29 42,500 40,300 2,200
21,250
21,250
308 AHAIEMSOIE 42,500 40,300 2,200
21,250
21,250
01 X SHHEAEXS 42,500 40,300 2,200
OL=22EXE AZH 42,500
21,250
21,250
CtEshts Sdatatd 2,262,370 2,437,659 175,289
1,740,285
522,085
308 AXIMSOIA 2,262,370 2,437,659 A175,289
1,740,285
522,085
01 HAHHBAEEXS 2,262,370 2,437,659 175,289
OU=2=E SHatAtY 2,262,370
1,740,285
= 522,085
JIBHE S SAHA MMM 37,920 37,080 840
308 XXM SOIA 37,920 37,080 840
01 AXHNBEES 37,920 37,080 840
OIJIEHE S SAHT M2 37,920
SIS EANHIA 2 120,000 120,000 0
308 AXIHMSOIA 120,000 120,000
01 XN BSEES 120,000 120,000
OSIIEAY MHlA 29 120,000
Gh23ats SHAXIR(XHH) 165,565 160,440 5,125
308 AtXIEMSOIE 165,565 160,440 5,125
01 HAHHBSEXRS 165,565 160,440 5,125
Ot2=htE SHAXIE 164,065
OSHAXZAL BE=1F 1,500
CtE3ts X 19,000 17,500 1,500
201 Ler23| 10,000 7,300 2,700
01 At2teltl 10,000 7,300 2,700
OU=22tE 44K g2 10,000
308 AXIHSOIA 9,000 10,000 21,000
01 HASHHBSEXS 9,000 10,000 A1,000
OIS 24012 & 9,000
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=@l AL E s (Gt H2)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
a=-FM-3%-8 o 8= = ofl &b s2
CI23HE gtots sHl X 12,150 13,500 A 1,350
308 AXIHHSOIA 12,150 13,500 N 1,350
01 AIXHAMBAMEEZ 12,150 13,500 A1,350
Ot23hts storg sH XI& 12,150
SIEEIIE Z2XAIE 00l MHIA XIJ 26,632 27,950 N1,318
J| 20,486
& 6,146
308 AXIHHMSOIA 26,632 27,950 N 1,318
J| 20,486
& 6,146
01 AIXSHHEAERZS 26,632 27,950 N 1,318
OstE2IIE EXIAIE Ol0I=SAHIA IR 26,632
J| 20,486
= 6,146
JIEAE HE 975,000 1,209,000 234,000
rag 750,000
= 225,000
403 XIXIHMS K20 A 975,000 1,209,000 234,000
ras 750,000
& 225,000
01 XX A2 R 975,000 1,209,000 A234,000
QJIEHE 2HE 975,000
g 750,000
& 225,000
wediiet HolEE MEE =01 =4 491,378 0 491,378
CH 491,378
403 XIS S AH=0|™ 491,378 0 491,378
CH 491,378
01 RIXISH 22 R 491,378 0 491,378
OumLiet HoISE MEgd =01 &4 491,378
CH 491,378
SIERIIEEXNAE AMIERRR o1 AHY| 42,380 35,490 6,890
J| 42,380
308 AXIHHMSOIA 42,380 35,490 6,890
J| 42,380
01 AIXHMBAEEZ 42,380 35,490 6,890
OStREZ2IIESAAIE AISISR2F 215H
Hl 42,380
J| 42,380
HAEED Ols2=H| K& 183,300 315,120 A 131,820
= 141,000
& 42,300
301 LEtEX 2 183,300 315,120 A 131,820
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A= SHESHSIEHRA A SHESIHHEI RS
M FAHASEUG]
ol FAHANFH EER=E)
A 2N B G(B) - NRAY - BES 0 &y A HIRS
= 565,165
) 6,061,616
< 6,8%,697
FaEAA=H 5,192,664 11,904,349 26,711,685
= 491,000
Jl 242,940
[ 4,458,724
ST FLE5H JI2HE 50,000 50,000
207 ARl 50,000 50,000
01 H7ESHI 50,000 50,000
OSE=T FaEdE® JIZ2HE +8 H+
= 50,000
E=ENS SN ImE 36,000 36,000
307 2Itold 36,000 36,000
RNEEPANE=ES 36,000 36,000
OFAE =HUF 36,000
e=EN S GE] 10,000 10,000 0
307 2I2t01 10,000 10,000
1 AIRISXIAISE X 10,000 10,000
OFaxHE oli=ql 10,000
=MOrg Uz FaE It 10,000 13,000 23,000
307 2IZto1 ™ 10,000 13,000 23,000
11 ARBIS XA R Z 10,000 13,000 23,000
OZ ML HAHE &It 10,000
HAEUSSTSHEH 2F(HEAY 728,058 681,200 46,858
307 2Itold 728,058 681,200 46,858
10 Al2ISTIAIEEE 22X 552,453 525,750 26,703
OF2EHESUEHH 28 X2 562,453
1 ALEISTIAISEE X 175,605 155,450 20,155
OFAESSUEUH 2SS 175,605
HadSBAL XA X (KIR) 242,940 260,172 A17,232
) 242,940
308 XXM SOl 242,940 260,172 A17,232
2l 242,940
01 XN EES 242,940 260,172 A17,232
OFAESEAE XA XIE 242,940
2l 242,940
S3EAESEAE JISEL(XE-HEAY) 2,919,200 9,003,507 26,084,307
403 AXIEHHSAH=201H 2,919,200 9,003,507 26,084,307
01 AXIEHM A= E £ 2,919,200 9,003,507 6,084,307
OSsE2EFEANE JIsES 2,919,200
Atetsd 22 76,446 200,000 N123,554
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A= SHESIHIEFRA A SHESIEZH 2
M HAEHAZ2G
&t FagHEsY EER=E)
AR 2A - B - C(BH) - ISAY - BYS ofl a0t Oﬁ]gﬁ HRE2
307 @I2tol ™ 155,000 232,000 AT77,000
10 MEISXAIEHE2EHIEX 120,000 182,000 262,000
OFa4d 2ZESHH 29 120,000
11 A SXIAMSE X 35,000 50,000 A 15,000
OFAE 2ERHUBSAIY 35,000
HAEBSHE 8,320,814 7,537,959 782,855
= 64,165
7 5,818,676
= 2,437,973
H2sHiH 2SN (HE) 342,384 332,560 9,824
Dl 171,192
[ 171,192
307 @120l & 32,384 332,560 9,824
2l 171,192
< 171,192
10 Al SXAIZEHE2EHI2x 342,384 332,560 9,824
O 2sH 2L XJ(DFE) 171,192
2l 85,5%
< 85,59
Od 23 22 XA (01sE) 171,192
) 85,5%
= 85,596
H23HH 2SX(XY) 85,5% 83,140 2,456
2l 85,5%
308 XXIHMSOIA 85,596 83,140 2,456
) 85,5%
01 AXHHBAELS 85,596 83,140 2,456
O 23l 2SN 85,5%
2l 85,596
U5 HEsIH 24 10,000 12,000 22,000
307 @lztol® 10,000 12,000 22,000
11 AR SXIAIZ E X 10,000 12,000 22,000
Odu= St 24 10,000
ARSI LAY XHEg 29 3,000 4,000 21,000
= 1,500
< 1,500
307 eI2to| & 3,000 4,000 21,000
= 1,500
= 1,500
11 A SXIAMSE X 3,000 4,000 21,000
OEAEURHNSZZAIL XG2S 2F X
2 3,000
= 1,500
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A= dHESHEIHE = SEI X2
M HAEHAZAG
ol HAEESHE (SH &)
4224 - B G9(EH) - AIRAY - BES of v A HIDEZ
SENZZ2OH2SXA(XE) 428,476 385,940 42,536
2l 428,476
308 ARISHMSOIE 428,476 385,940 42,536
2l 428,476
01 MASNBSEES 428,476 385,940 42,536
OAlZ SBHAt 2208 22X 428,476
Jl 428,476
st 8 Had X(HE) 563,712 375,668 178,044
2l 387,598
< 166,114
307 212+01H 563,712 375,668 178,044
Jl 387,598
< 166,114
10 MSTAIEHE2HHEX 212,002 208,29 3,708
Ok st 5 F4ad XNJAY 29 212,002
2l 148,401
< 63,601
1 MISETAMLEE 341,710 167,374 174,336
Ok st 5 Fad X2 A 341,710
2l 239,197
< 102,513
st o Had X(XE) 991,566 969,696 21,870
2l 991,566
308 AFRISHMSOIE 991,566 969,696 21,870
2l 991,566
01 AXEHH B EES 991,566 969,696 21,870
OAlZ st & Ea3 N3 991,566
2l 991,566
st 8 FAaE S4H N3 (HE) 5,750 4,7% 94
2l 2,875
= 2,875
307 2I2+01H 5,750 4,7% 94
2l 2,875
< 2,875
1 MISTAMLER 5,750 4,7% 94
Ok st 8 F4d S48 X2 5,750
2l 2,875
< 2,875
st 8 HAad S48 & (X) 82,307 65,748 16,559
Jl 82,307
308 XXM SOIA 82,307 65,748 16,559
) 82,307
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AR ANTSIIEI B SN SHBSHEZ BB
M Fadoizst
ol HAEESHE (SH &)
4224 - HE - B9I(E) - AIRAY - B of v G o HIDE2
01 XN B2 LS 82,307 65,748 16,559
OAlz st & FAE gAH X3 82,307
Jl 82,307
HAEEETIE M (XIRA) 151,087 127,500 23,587
Jl 151,087
308 AtXIEHMSOIE 151,087 127,500 23,587
Il 151,087
01 XN B2 LS 151,087 127,500 23,587
OAlz EAESENE At 151,087
Jl 151,087
A4 s 2sX3 1,802,356 1,691,682 110,674
Il 1,201,574
== 600,782
308 AXIMSOIA 1,802,356 1,691,682 110,674
Il 1,201,574
< 600,782
01 HAHHBSEEXS 1,802,356 1,691,682 110,674
O34Ad itz 25X 1,802,356
Jl 1,201,574
= 600,782
CIXE0ION ol HAEX BSASAL BHXIAL (2 74,220 72,368 1,852
5)
= 37,110
s 37,110
307 elzto| & 74,220 72,368 1,852
= 37,110
& 37,110
11 MEISXAEE 74,220 72,368 1,852
OUIXIE0ILION Lol BAEXd MESEA
BHRIAS (R E) 74,220
= 37,110
= 37,110
CIXE0ION ot HAEX HSASAL BHXIAL (X 18,555 18,092 463
)
= 18,555
308 AtXIEMSOIE 18,555 18,092 463
= 18,555
01 HRESHHBAEES 18,555 18,092 463
OUIXIE0ILIO Lol Fa~EXd SELEA
BHRI AR (KI2) 18,555
= 18,555
dH2LIH(LLHBSII=EF ) 141,161 161,323 /10,162
el 2E| 69,207 75,248 A\6,041
el E2d| 69,207 75,248 6,041
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A= GNBSIIETUD SN SHBSIET
M BYSAAH(FLBSIHEZUD)
SE BRI (2ol z8l)
A= 2N - BB S9(S) - HISAY - BES il v A HlDE2
101 Q1248 69,207 67,558 1,649
03 BRE(PI|H) 22N 69,207 67,558 1,649
ORIAA2ER B4 69,207
S 69,207
o=z 2,009, 08021+22» 122 48,697
L OIM ORH BYIELY
11,6482+ 1500+ 15A1 242 # 122 6,290
P s 11,6482 48AI 2h 1520402 2,7%
X-E-ESIlT 2,029, 00024 +60%+23] 2% 4,870
. HelE S| 50, 0002123 * 122 1,200
22013 300
- HuZAY| 140,000 42+ 122 3,360
MEAIREAY 1,214
p/Es 480
IEET 71,954 76,075 ~4,121
IEET 71,954 76,075 ~4,121
201 Y2y 20,774 2,175 A1,401
01 AL 22| 20,774 22,175 A1,401
OPIEE=E 8,476
ORE=ET 2,298
202 01| 39,780 42,500 £2,720
NENEE 39,780 42,500 £2,720
OJI=oit| 39,780
203 PR =] 11,400 11,400
01 IR ARSI 6,600 6,600
OYHBEII=H M 6,600
04 BA2YAREY| 4,800 4,800 0
OYHBSII=T M 4,800




